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Q1. Along the coasts, Salinity is 7 1
A)Lowered B)increased C)stable D)unaffected
el R Uil 87

A) HH C) 91 g3 D) RR D) 3fguifda

Q2. Which is a result of condensation of water vapour’s? 1
A)Rain B)snowfall O)Hail D)Tiny water droplets
STAAT] o Y &1 GO &7 67

ATIRY C)Fhart ¢)3Nargfd Dysidt urt o1 e

Q3. Which of the following is a cold ocean current ? 1

A)Brazil current B)gulf stream C)Kurosohio current  D)Hambolt current

frafefad & @ o O 68 HeTRY YRT 82
A) STOlTd YRT B) WTS! YRT C) HRIGIRAT URT D) gialee URT

Q4. The local name of thunderstorm in West Bengal is? 1
A)Jet stream  B)Mango shower C)Kalbaishakh D)Loo
O ST § T &1 R A8 &1 62

AJSTE T B) 3T RMTAR C)BTASRITE D)

Q5. Assertion | - the climate of India is strongly influenced by monsoon winds. 1

Reason Il - the pressure and wind condition over India are unique.
(A)Both I and Il are true and R is correct explanation of |
(B) Both I and Il are true and what are is not correct explanation of |
(O)l'is correct but Il is wrong
(D)Both are not correct

a1aT | - YR &1 STdar] AT garsif & w1t guifad g
HRUT || - HRA TR G149 3R g1 &1 U sifgedia gl

(A) 1 3R 1| SH T & 3R R, | BT T TP §

(B) 1 3R 1 TFl T € 3R ol § 98 | P! Hal ARSAT 61 §

(C) | TR § A 11 TTad §

(D) &I |&! a1 §




Q6. Assertion | - The amount of moisture in the atmosphere is related to latitude.
1

Reason Il - the capacity to hold moisture in the form of water responsible is

related to temperature

(A)Both I and Il are true and R is correct explanation of |

(B) Both I and Il are true and what are is not correct explanation of |

(©) lis correct but Il is wrong

(D)Both are not correct

FBUT | - argHee | T B 7B e A HEfud B
BRI - U & =0 H TH BT YR B DI &HT YA I Gaferd §
(A) | 3R 11 GFI I & 3R R, | FT qal TPIHIT §
(B) | 3R 1| Tl T § 3R OIl € 98 | DI a! ARSAT T8l &
(C) | TE! g Wb Il 7Tad §
PEERHERE
Q7. Which factor increase the rate of evaporation? 1

A)High temperature B)Clear sky C)Dry winds D)AIl of these
P T HRP ATUIBI B G B! TSI 87

A) I dIIHM B) T S OB gAY D) I

Q8. Temperate cyclone does not bring along with them. 1
A)Pleasant weather B) Hail C) Thunderstorm D) All of
them

AT IhdTd S0 1Y gl dld-
AEE dd DEINIEE C)3ieh g )T Tt

Q9. Which is frozen raindrops and refrozen melted snow water ? 1
A)Sleet B) Frost C)Cloud D)Mist
oI g% auf & §d 3R A T oA g furaar g3 9% &1 Uil &9 I1 82

INEISIEI B) Tl C) dTed D) 4

Q10. Why the earth is having its own atmosphere ? 1
A)Winds B)Revolution of Earth  C)Gravity D)Rotation of the
earth

gd} T ST ATgHS T Y 87



A)gdY B)Rdl &1 URehdl C) TSATH YUl D)gdt FT
qu

Q11. The retreating monsoon season starts from? 1
A)October and November B)June to September C)March to May D)
December to February

dled U MY &7 HI9Y H8l 3 I 8idT 37
A)SfEEER 3R TdaR B)SH ¥ RydeR OLICk K]
D)f¢deR T Hra

Q12. According to koppen'’s scheme of climatic regions the monsoon with a short
dry season is represented by ? 1
A)As B)CWG OAmw D)Aw
DU P A &1 DI TS & SR 7Y I ANH a1 A HI G211 Sl
&7

A)As B)CWG OAmw D)Aw
Q13. Most widespread vegetation in India is? 1

A)Coniferous forests B)Mangrove forest C)Tropical rainforest
D)Tropical deciduous forest
YR H Yaiftip AU a-afd 87
ARIFYRT T B)TIG o C)SWIh sty aufad
D)W et gofurdt g
Q14. Which one of the following is the biosphere reserve of India? 1
A)Gir B)Nilgiri C)Kanheri

D)None of these

froferfad § 9 o 91 HRd &1 Sw R Red 82

AR By C)dHol
D)3H ¥ B3 81

Q15. The weight of a column of air contained in a unit area from the main sea level
to the top of the atmosphere? 1
A) Atmospheric pressure B) Typhoons C)lsobars
D)Coriolis force
I % dd 4 agHed o MY dob Th SHhls &7 8 Figd I & T TH BT YR
1 8?




A) IHS Y GaTd B) CIS%H C)3MTSHIER
D) o

Q16. Isobar are the lines of? 1
A)Equal temperature B)Equal pressure C)Equal height
D)Equal rainfall
3MFHISR Y@M Bielt &7
A) THH ATIHH B) I &aTq C) T $aTS
D) HH aui

Q17. Read the given passage carefully and answer the question that follow.
3
The Inter Tropical Convergence Zone (ITCZ) is a low pressure zone located at the
equator where trade winds converge, and so, it is a zone where air tends to ascend.
In July, the ITCZ is located around 20°N-25°N latitudes (over the Gangetic plain),
sometimes called the monsoon trough. This monsoon trough encourages the
development of thermal low over north and northwest India. Due to the shift of ITCZ,
the trade winds of the southern hemisphere cross the equator between 40° and 60°E
longitudes and start blowing from southwest to northeast due to the Coriolis force.
It becomes southwest monsoon. In winter, the ITCZ moves southward, and so the
reversal of winds from northeast to south and southwest, takes place. They are called
northeast monsoons.

Nwhat is ITCZ?

Il) what is monsoon trough?

llI) define northeast monsoon?

. feu U T @1 earyde U SR S a1g SMU UY BT R ¢ |

$eR Sl Bawig Sl (S IIS) HAe T IR fRId T $H <ald ara &7 § 5gi
AR §aTd THAd Bl 6, 3R SUICIY, TE Ueh UHT & § o1 5aT SR B 3R d6d1 g
S[ATs H, ITCZ 20°N-25°N 3f&fi=T (17 & BEH & HUR) & U [d gial &, o
Hft-Ht A 1t ot FeT ST 81 U HHYA T 37 SR SWR-UEH YRa § ard
79 & faPbT &1 UIHIfed PRl 5| ITCZ & Saald &b PHRUI, Iaon Tiene o e
BATY 40° 3R 60°E SRR & a1d YA XWT I UR Bl § AR HINSATCRI I & BRI
GR0T-UT ¥ ITR-Ud &1 3R I8 Il ¢ | T8 GIa0T UfSd HFYH § Srdl 5| |fedl




# 1TCZ gfermr 3t 3R dgdi §, 3R 3ufay IWR-ud ¥ gfemr 3R afmr-ufym &t ok
ga137 BT IeT 3R BIdl g1 §% ITRYA! U Hel Sal g |

) TS CIToTS T 82

Il) AR T T g2

11l AR AR DI TR 62

Q18. What are the main features of tropical cyclones? 3
UG icaTa aghardl o g faRIvdn 31 §?

Q19. What are the main characteristics of monsoon rainfall? 3
ARG auf &1 T faRivdTd o1 82

Q20. Explain in brief about the types of forests in India? 5
YRd H o1 & YR & IR | J&Y H §a1g?

Q21. What are the main causes of climate change in the world? 5

fa%y & STefarg uRad- & HT HRUT AT &7

Q22. Plot the following on the map of world- 2
A) Grand canyon B) Arctic sea

fafafad & foy & aAfE = saRad &3-
A) TS I B) Abfed IR

Q23. Plot the following on the map of India- 3

C) Keoladeo National park D) Manas E) Similipal
HRA & AT IR HAafciRad o sieifad o-

C) PAAIGI AP I D) A F) Rfaferara





